Algebra 1 Bellwork  Wednesday, September 16, 2015

Simplify each. Do NOT use a calculator for these problems
1. 4+2(4%-11)2

2. 17-2[1+(5-2)*]+8

3. 24+-316-(2)% - -7 +2|

Solve each equation. Do NOT use a calculator for these problems

4. -3+w=-14

£ -
5. i 12

6. —5k=40 7. -g=20

Algebra 1 Bellwork

e

Wednesday, September 16, 2015 | / /)SW(/r <
Simplify each. Do NOT use a calculator for these problems.

1. 442042 - 11)?

2 17—2[1+(5\—/2)2]+8
= I o — V& = L{' SO
l+7_( b-11) F e
R NS G r
« Y t2(25) [4'7}
3. 24+-316-(2)°| - -7 +2| = 0 =[] 4§
lo-gl — 5l

-2 —1-9]

, -\~ -ro + 6
pe 'Z,L{—% ’)(2_) _5
N

= —gxy~-s = "lems '@3
Solve each equation.

Do NOT use a calculator for these problems
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